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2. (30pts.) Anideal Carnot refrigerator operates between temperature reservoirs
of −6°C and 25°C. If the refrigerator uses 100 Watts to run (i.e. the rate at which
work is done on the refrigerator is 100 Watts) how long will it take to change 0.4
kg of water initially at 25°C to ice at−6°C?

Some data:

specific heat of water = 4190 J/kg⋅K
specific heat of ice = 2100 J/kg⋅K
latent heat of fusion of water = 3. 33× 105 J/kg
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2. (30 pts.) An ideal Camot refrigerator operates between temperature reservoirs 
of -6°C and 25°C. If the refrigerator uses 100 Watts to run (i.e. the rate at which 
work is done on the refrigerator is 100 Watts) how long will it take to change 0.4 
kg of water initially at 25°C to ice at -6°C? 

Some data: 

specific heat of water= 4190 J!k:g·K 
specific heat of ice = 2100 Jlkg· K 
latent heat of fusion of water= 3. 33 x 105 J/kg 
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